# Some results on derivations of MV-algebras 

WANG Jun-tao ${ }^{1} \quad$ HE Peng-fei ${ }^{2} \quad$ SHE Yan-hong ${ }^{1, *}$


#### Abstract

In this paper, we review some of their related properties of derivations on MValgebras and give some characterizations of additive derivations. Then we prove that the fixed point set of Boolean additive derivations and that of their adjoint derivations are isomorphic. In particular, we prove that every MV-algebra is isomorphic to the direct product of the fixed point set of Boolean additive derivations and that of their adjoint derivations. Finally we show that every Boolean algebra is isomorphic to the algebra of all Boolean additive (implicative) derivations. These results also give the negative answers to two open problems, which were proposed in [Fuzzy Sets and Systems, 303(2016), 97-113] and [Information Sciences, 178(2008), 307-316].


## §1 Introduction

MV-algebras were introduced by Chang for the purpose of providing an algebraic proof of the completeness theorem of infinite-valued propositional logics [2]. In the present paper, the infinite-valued logic refers to that proposed by Lukasiewicz and Tarski [14] with truth values in the interval $[0,1]$ of real numbers. Thus, in a certain sense, MV-algebras stand in relation to multiple-valued logic as Boolean algebras do to classical logic. Moreover, Chang [3] established a bijective correspondence between the linearly ordered MV-algebras and the linearly ordered abelian $\ell$-groups with a strong unit and used this result in order to obtain an algebraic proof for the completeness theorem of Łukasiewicz propositional logic in another way. For a detailed consideration of MV-algebras and their related results, we refer to [2-4,17-22].

The notion of derivations, introduced from the analytic theory, is helpful for studying algebraic structures and properties in algebraic systems. In 1957, Posner [15] introduced the notion of derivations in a prime ring $(R,+, \cdot)$, which is a map $d: R \rightarrow R$ satisfying the following two conditions:

Received: 2020-03-07. Revised: 2020-04-24.
MR Subject Classification: 06B35, 06B99.
Keywords: MV-algebra, derivation, fixed point set, ideal, Boolean algebra.
Digital Object Identifier(DOI): https://doi.org/10.1007/s11766-023-4054-8.
Supported by a grant of National Natural Science Foundation of China(12001243, 61976244, 12171294, 11961016), and the Natural Science Basic Research Plan in Shaanxi Province of China (2020JQ-762, 2021JQ580).

* Corresponding author.

$$
\text { (i) } d(x+y)=d(x)+d(y), \text { (ii) } d(x \cdot y)=d(x) \cdot y+x \cdot d(y)
$$

for all $x, y \in R$. Subsequently, a number of research articles have appeared on derivations in the theory of rings and references there in $[1,5,12]$. Inspired by derivations on rings, Jun et al [13] applied the notion of derivations to BCI-algebras and gave some characterizations of psemisimple BCI-algebras. In the past few years, Xin [24] introduced the concept of derivations in a lattice $(L, \wedge, \vee)$, which is a map $d: L \rightarrow L$ satisfying the two conditions:

$$
\text { (i) } d(x \vee y)=d(x) \vee d(y), \text { (ii) } d(x \wedge y)=(d(x) \wedge y) \vee(x \wedge d(y))
$$

for all $x, y \in L$, and characterized modular lattices and distributive lattices by isotone derivations; Ghorbain et al [10] introduced the notions of additive derivations on an MV-algebra $(L, \oplus, *, 0)$, which is a map $d: L \rightarrow L$ satisfying the following two conditions:

$$
\text { (i) } d(x \oplus y)=d(x) \oplus d(y), \text { (ii) } d(x \odot y)=(d(x) \odot y) \oplus(x \odot d(y))
$$

for any $x, y \in L$, and proved that an additive derivation of a linearly ordered MV-algebra is isotone. In order to get the general algebraic results of derivation on t-norm based logical algebras, He [11] investigated derivations on residuated lattices and characterized Heyting algebras in terms of derivations, and proved that the fixed point set of principal ideal derivations and that of their adjoint derivations are lattice isomorphic.

It always been known that ideals play a central role in studying logical algebras, and so the relationship between derivations and ideals is an important research topic to study. For example, Xin proved the fixed point set of a lattice derivation is an ideal in lattices and proposed an open problem related to them as follow: (OP1) for any lattice ideal $I$ of a lattice $L$, whether there exists a derivation $d$ such that $F i x_{d}(L)=I$. They gave the positive answer to the (OP1) under certain conditions [23, Theorem 4.13]. Inspired by this, He further clarified the relationship between lattice ideal and derivations in residuated lattices, and proposed another open problem is similar to that of (OP1), that is, (OP2) for any lattice ideal $I$ of a general residuated lattice $L$, whether there exists a derivation $d$ such that $F i x_{d}(L)=I$. He also gave the positive answer to the (OP2) under certain conditions in Heyting algebras in [24, Theorem 4.14]. Unfortunately, none of the above-mentioned open problems have been completely solved so far.

In this paper, we will further study the derivations of MV-algebras. One of our aims is to obtain some representations and characterizations of MV-algebras and Boolean algebras via derivations. In particular, we will obtain the following main results:
(1) Every MV-algebra is isomorphic to the direct product of the fixed point set of Boolean additive derivations and that of their adjoint derivations, which shows that Boolean derivations coincide with direct product decompositions of MV-algebras (See Theorem 5.16 and Corollary 5.17).
(2) The fixed point set of Boolean additive derivations and that of their adjoint derivations in MV-algebras are isomorphic. Indeed, this result essentially goes a step further of the following result in [24, Theorem 4.10] that the fixed point set of principal ideal derivations and that of their adjoint derivations are lattice isomorphic. (See Theorem 5.15)
(3) Every Boolean algebra is isomorphic to the algebra of all Boolean additive (implicative) derivations. Indeed, this result essentially go a step further of the following result in [24, Theorem 3.29] that every distributive lattice is isomorphic to the algebra of all principle derivations in distributive lattices. (See Theorem 5.21 and Theorem 5.22)

The other aim of us is to further study the relationship between derivations and ideals of MV-algebras. Indeed, we will obtain the following main results:
(4) We also give a negative answer to the above two open problems (OP1) and (OP2). (See

## Remark 4.7)

The paper is organized as follows: In Section 2, we review some basic definitions and results about MV-algebras. In Section 3, we further study derivations in MV-algebras. In Section 4, we further clarify the relationship between ideal and derivations in MV-algebras and give a negative answer to open problems in $[11,24]$. In Section 5, we obtain some representations and characterizations of MV-algebras and Boolean algebras via Boolean derivations and their adjoint derivations.

## §2 Preliminary

In this section, we summarize some definitions and results about MV-algebras, which will be used in the following sections.

An algebra $\left(L, \oplus,{ }^{*}, 0\right)$ of type $(2,1,0)$ is called an $M V$-algebra if it satisfies the following conditions:
(1) $(L, \oplus, 0)$ is a commutative monoid,
(2) $\left(x^{*}\right)^{*}=x$,
(3) $0^{*} \oplus x=0^{*}$,
(4) $\left(x^{*} \oplus y\right)^{*} \oplus y=\left(y^{*} \oplus x\right)^{*} \oplus x$,
for any $x, y \in L$.
We shall adopt the usual conventions for MV-algebras: * operation is more binding than $\oplus$. On each MV-algebra $L$, we define the constant 1 and the operations $\odot, \ominus, \rightarrow$ as follows:

$$
1=0^{*}, x \odot y=\left(x^{*} \oplus y^{*}\right)^{*}, x \ominus y=x \odot y^{*} \text { and } x \rightarrow y=x^{*} \oplus y
$$

for any $x, y \in L$. We define $x \leq y$ if and only if $x^{*} \oplus y=1$. It follows that $\leq$ is a partial order, called the natural order of $L$. The natural order determines a lattices structure, in which,

$$
x \vee y=\left(x \odot y^{*}\right) \oplus y, \quad x \wedge y=x \odot\left(x^{*} \oplus y\right)
$$

for any $x, y \in L$. The structure $(L, \wedge, \vee, 0,1)$ is a bounded distributive lattice. We say that the MV-algebra $L$ is linearly ordered if the lattice $(L, \wedge, \vee, 0,1)$ is linearly ordered. An MV-algebra is a Boolean algebra if its satisfies the additional equation $x \oplus x=x$ (or $x \odot x=x$ ) for any $x \in L$, and denote by $B(L)=\{x \in L \mid x \oplus x=x\}$ be the set of all idempotent elements of $L$. As MV-algebras form a variety, the notions of homomorphism, subalgebra are just the particular cases of the corresponding universal algebraic notions [2,3,4].

Example 2.1. ([3]) Let $L=[0,1]$ be the real unit interval. If we define

$$
x \oplus y=\min \{1, x+y\}, \quad x^{*}=1-x
$$

for any $x, y \in L$, then $\left(L, \oplus,{ }^{*}, 0\right)$ is an MV-algebra. Also, for each number $n \geq 2$, then $n$-element set

$$
S_{n}=\left\{0, \frac{1}{n-1}, \frac{2}{n-1}, \cdots, \frac{n-2}{n-1}, 1\right\}
$$

is a subalgebra of an MV-algebra $L$.
Proposition 2.2. ([3,4]) In any MV-algebra L, the following properties hold: for all $x, y, z \in L$,
(1) $x \oplus x^{*}=1$,
(2) $x \odot x^{*}=0$,
(3) $x \leq y$ if and only if $x \rightarrow y=1$,
(4) $x \odot y \leq x \wedge y$,
(5) $x \rightarrow(y \wedge z)=(x \rightarrow y) \wedge(x \rightarrow z)$,
(6) $(x \vee y) \rightarrow z=(x \rightarrow z) \wedge(y \rightarrow z)$,
(7) $x \leq y$ implies $x \odot z \leq y \odot z$,
(8) $x \vee y=(x \rightarrow y) \rightarrow y=(y \rightarrow x) \rightarrow x$,
(9) $x \leq y \rightarrow x$,
(10) $x \odot(y \vee z)=(x \odot y) \vee(x \odot z)$,
(11) $x \oplus(y \wedge z)=(x \oplus y) \wedge(x \oplus z)$,
(12) $x \odot y \leq z$ if and only if $x \leq y \rightarrow z$,
(13) $x \ominus y \leq z$ if and only if $x \leq y \oplus z$.

Proposition 2.3. ([10]) Let $L$ be an $M V$-algebra and $e \in B(L)$. Then the following properties hold: for any $x, y \in L$,
(1) $e \wedge(x \odot y)=(e \wedge x) \odot(e \wedge y)$,
(2) $e \vee(x \odot y)=(e \vee x) \odot(e \vee y)$,
(3) $e \wedge(x \oplus y)=(e \wedge x) \oplus(e \wedge y)$,
(4) $e \vee(x \oplus y)=(e \vee x) \oplus(e \vee y)$,
(5) $e \odot(x \rightarrow y)=e \odot[(e \odot x) \rightarrow(e \odot y)]$,
(6) $e \rightarrow(x \rightarrow y)=(e \rightarrow x) \rightarrow(e \rightarrow y)$.

Let $L$ be an MV-algebra. A nonempty subset $I$ of $L$ is called an ideal of $L$ if it satisfies: (1) $x, y \in I$ implies $x \oplus y \in I$; (2) $x \in I, y \in L$ and $y \leq x$ imply $y \in I$. An ideal $I$ of $L$ is proper if $I \neq L$. A proper ideal $I$ of $L$ is called a prime ideal if for any $x, y \in L$ such that $x \wedge y \in I$, then $x \in I$ or $y \in I$. A nonempty subset $I$ of $L$ is called a lattice ideal of $L$ if it satisfies: (i) for all $x, y \in I, x \vee y \in I$; (ii) for all $x, y \in L$, if $x \in I$ and $y \leq x$, then $y \in I$, that is, a lattice ideal of an MV-algebra $L$ is the notion of ideal in the underlying lattice.

For any nonempty subset $X$ of $L$, the smallest lattice ideal containing $X$ is called the lattice ideal generated by $X$. The lattice ideal generated by $X$ will be denoted by $(X]$. In particular, if $X=\{t\}$, we write $(t]$ for $(\{t\}],(t]$ is called a principal lattice ideal of $L$. It is easy to check that $(t]=\downarrow t=\{y \in L \mid y \leq t\}$. From Principle of Duality, we can define the lattice filter and the principal lattice filter of an MV-algebra $L$.

Let $I$ be an ideal of an MV-algebra $L$. We define a binary relation $\theta_{I}$ on $L$ as follows: for any $x, y \in L,(x, y) \in \theta_{I}$ if and only if $(x \ominus y) \oplus(y \ominus x) \in I$. Then, $\theta_{I}$ is a congruence relation on $L$. Thus, the binary relation $\leq$ on $L / I$ which is defined by $[x] \leq[y]$, if and only if $x \rightarrow y \in I$, is an order relation on $L / I$. For any $x \in L$, let $[x]_{I}$ be the equivalence class $[x]_{\theta_{I}}$ and $L / I=L / \theta_{I}=\left\{[x]_{I} \mid x \in L\right\}$. Then $L / I$ becomes an MV-algebra with the natural operations induced from those of $L([6,7,16])$.

Definition 2.4. ([9]) Given ordered sets $E, F$ and order-preserving mappings $f: E \longrightarrow F$ and $g: F \longrightarrow E$, we say that the pair $(f, g)$ establishes a Galois connection between $E$ and $F$ if $f g \geq i d_{F}$ and $g f \leq i d_{E}$.

## §3 Some derivations of MV-algebras

In this section, we further study derivations on MV-algebras and give some characterizations of additive derivations.

Definition 3.1. ([10]) Let $L$ be an MV-algebra. A map $d: L \longrightarrow L$ is called a derivation on $L$ if it satisfies the following condition: for any $x, y \in L$,

$$
d(x \odot y)=(d(x) \odot y) \oplus(x \odot d(y)) .
$$

Example 3.2. ([10]) Let $L=\{0, a, b, c, d, 1\}$ and operations $\oplus$ and $*$ be defined as follows:

| $\oplus$ | 0 | $a$ | $b$ | $c$ | $d$ | 1 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| 0 | 0 | $a$ | $b$ | $c$ | $d$ | 1 |
| $a$ | $a$ | $c$ | $d$ | $c$ | 1 | 1 |
| $b$ | $b$ | $d$ | $b$ | 1 | $d$ | 1 |
| $c$ | $c$ | $c$ | 1 | $c$ | 1 | 1 |
| $d$ | $d$ | 1 | $d$ | 1 | 1 | 1 |
| 1 | 1 | 1 | 1 | 1 | 1 |  |
| 1 |  |  |  |  |  |  |
|  |  |  |  |  |  | $d$ |
|  | $b$ | $c$ | $c$ | $d$ |  |  |

Then $(\{0, a, b, c, d, 1\}, \oplus, *, 0)$ is an MV-algebra. Define a map $d: L \longrightarrow L$ by

$$
d(x)= \begin{cases}0, & x=0, a, c \\ b, & x=b, d, 1\end{cases}
$$

It is verified that $d$ is a derivation on an MV-algebra $L$.
Proposition 3.3. ([10]) Let $L$ be an $M V$-algebra and $d$ be a derivation on $L$. Then we have: for any $x \in L$,
(1) $d(0)=0$,
(2) $d(1) \in B(L)$,
(3) $d(x) \odot x^{*}=x \odot d\left(x^{*}\right)=0$,
(4) $d(x) \leq x$,
(5) $d(x)=d(x) \oplus(x \odot d(1))$.

Definition 3.4. ([10]) Let $L$ be an MV-algebra and $d$ be a derivation on $L$.
(1) $d$ is called an isotone derivation provided that $x \leq y$ implies $d(x) \leq d(y)$ for all $x, y \in L$,
(2) $d$ is called an additive derivation provided that $d(x \oplus y)=d(x) \oplus d(y)$ for all $x, y \in L$.

Example 3.5. ([10]) Let $S_{4}$ be the MV-algebra in Example 2.1. Define a map $d: S_{4} \longrightarrow S_{4}$ by

$$
d(x)= \begin{cases}0, & x=0, \frac{1}{3}, 1 \\ \frac{1}{3}, & x=\frac{2}{3}\end{cases}
$$

Then $d$ is a derivation on $S_{4}$, but it is not an additive derivation on $L$, since

$$
d\left(\frac{1}{3}+\frac{2}{3}\right)=d(1)=0 \neq \frac{1}{3}=d\left(\frac{1}{3}\right)+d\left(\frac{2}{3}\right) .
$$

Moreover, $d$ is not an isotone derivation on $L$, since

$$
\frac{2}{3} \leq 1, d\left(\frac{2}{3}\right)=\frac{1}{3} \geq 0=d(1)
$$

Example 3.6. Let $S_{n}$ be the MV-algebra in Example 2.1. Define a map $d: S_{n} \rightarrow S_{n}$ as follows: for all $x \in S_{n}$,

$$
d(x)= \begin{cases}\frac{1}{n-1}, & x=1 \\ \frac{1}{n-1} \odot x, & x \neq 1\end{cases}
$$

It is verified that $d$ is not only an additive, but also an isotone derivation on $S_{n}$.
Proposition 3.7. Let $L$ be an $M V$-algebra and $d$ be an additive derivation on $L$. Then we have: for any $x, y \in L$,
(1) $d$ is an isotone derivation,
(2) $d(x)=d(1) \odot x$,
(3) $d(d(x))=d(x)$,
(4) $d(x) \in B(L)$,
(5) $d(d(x) \rightarrow d(y))=d(x \rightarrow y)$,
(6) $\operatorname{Fix}_{d}(L)=d(L)$, where Fix $(L)=\{x \in L \mid d(x)=x\}$,
(7) if $d(L)=L$, then $d=i d_{L}$,
(8) $\operatorname{Ker}(d)$ is an ideal of $L$, where $\operatorname{Ker}(d)=\{x \in L \mid d(x)=0\}$.

Proof. (1) If $x \leq y$, then $y=x \vee y=x \oplus\left(x^{*} \odot y\right)$. By Definition 3.4(2), we have

$$
d(y)=d\left(x \oplus\left(x^{*} \odot y\right)\right)=d(x) \oplus d\left(x^{*} \odot y\right) \geq d(x)
$$

which implies $d(x) \leq d(y)$.
(5) It follows from Propositions 2.3(5), 3.3(2) and (2) that

$$
d(d(x) \rightarrow d(y))=d(1) \odot[(d(1) \odot x) \rightarrow(d(1) \odot y)]=d(1) \odot(x \rightarrow y)=d(x \rightarrow y)
$$

which implies $d(d(x) \rightarrow d(y))=d(x \rightarrow y)$ for any $x, y \in L$.
As a consequence of Propositions 3.3 and 3.7, we have the following fact.

Theorem 3.8. Let $L$ be an $M V$-algebra and $d$ be a derivation on $L$. Then the following statements are equivalent: for any $x, y \in L$,
(1) $d$ is an additive derivation,
(2) $d$ is an isotone derivation,
(3) $d(x) \leq d(1)$,
(4) $d(x)=d(1) \odot x$,
(5) $d(x \odot y)=d(x) \odot y=x \odot d(y)$,
(6) $d(x \wedge y)=d(x) \wedge d(y)$,
(7) $d(x \vee y)=d(x) \vee d(y)$,
(8) $d(x \odot y)=d(x) \odot d(y)$,
(9) $d(x) \leq y$ if and only if $d(x) \leq d(y)$,
(10) $d(x) \rightarrow d(y)=d(x) \rightarrow y$.

Proof. (1) $\Rightarrow$ (2) It follows from Proposition 3.7(1)
$(2) \Rightarrow(3)$ It is straightforward.
$(3) \Rightarrow(4)$ It follows from Proposition 3.7(2).
$(4) \Rightarrow(1)$ From Propositions 2.3(3),3.3(2) and Proposition 3.7(2), we have

$$
d(x \oplus y)=d(1) \odot(x \oplus y)=(d(1) \odot x) \oplus(d(1) \odot y)=d(x) \oplus d(y)
$$

$(4) \Rightarrow(5)$ From (4), we have

$$
d(x \odot y)=d(1) \odot x \odot y=x \odot(d(1) \odot y)=x \odot d(y) .
$$

$(5) \Rightarrow(4)$ Taking $y=1$ in (5), we have $d(x)=d(1) \odot x$.
$(4) \Rightarrow(6)$ From (4) and Proposition 3.3(2), we have

$$
d(x \wedge y)=d(1) \odot(x \wedge y)=d(1) \wedge(x \wedge y)=d(1) \wedge d(1) \wedge x \wedge y=d(x) \wedge d(y)
$$

$(4) \Rightarrow(7)$ From (4) and Proposition 3.3(2), we have
$d(x \vee y)=d(1) \odot(x \vee y)=d(1) \wedge(x \vee y)=(d(1) \wedge x) \vee(d(1) \wedge y)=(d(1) \odot x) \vee(d(1) \odot y)=d(x) \vee d(y)$.
$(7) \Rightarrow(2)$ Let $x \leq y$, we have $x \vee y=y$. Then it follows from (7), we have

$$
d(y)=d(x \vee y)=d(x) \vee d(y) \geq d(x)
$$

$(4) \Rightarrow(8)$ From (4) and Proposition 3.3(2), we have

$$
d(x \odot y)=d(1) \odot(x \odot y)=d(1) \odot d(1) \odot x \odot y=d(x) \odot d(y)
$$

$(6) \Rightarrow(4),(7) \Rightarrow(4),(8) \Rightarrow(4)$ are straightforward.
$(2) \Rightarrow(9)$ If $d(x) \leq y$, then $d(d(x)) \leq d(y)$, and hence by Proposition 3.7(3), we have $d(x) \leq d(y)$. Conversely, if $d(x) \leq d(y)$, from Proposition 3.3(4), then $d(x) \leq d(y) \leq y$ for all $x, y \in L$.
$(9) \Rightarrow(2)$ If $x \leq y$, then $d(x) \leq x \leq y$, and hence $d(x) \leq d(y)$ for all $x, y \in L$.
$(2) \Rightarrow(10)$ Assume that $d$ is an isotone derivation on $L$. From $d(y) \leq y$ for any $y \in L$, it follows that $d(x) \rightarrow d(y) \leq d(x) \rightarrow y$. On the other hand, let $t \leq d(x) \rightarrow y$ for all $t \in L$, we can obtain $d(x) \odot t \leq y$. Since $d$ is an isotone derivation, we have $d(d(x) \odot t) \leq d(y)$ for all
$x, y, t \in L$. From $d(x \odot y)=(d(x) \odot y) \oplus(x \odot d(y))$, we get $d(x) \odot y \leq d(x \odot y)$ for all $x, y \in L$. It follows $d(d(x)) \odot t \leq d(d(x) \odot t)$. By Proposition 3.7(3), we have $d(x) \odot t \leq d(d(x) \odot t) \leq d(y)$. Hence $t \leq d(x) \rightarrow d(y)$ for all $t \in L$, which implies $d(x) \rightarrow y \leq d(x) \rightarrow d(y)$ for all $x, y \in L$. Therefore, we obtain $d(x) \rightarrow d(y)=d(x) \rightarrow y$ for any $x, y \in L$.
$(10) \Rightarrow(2)$ Assume that $d(x) \rightarrow d(y)=d(x) \rightarrow y$ for all $x, y \in L$. For any $x, y \in L$, let $x \leq y$, by Proposition 3.3(4), we have $d(x) \odot 1=d(x) \leq x \leq y$. It follows that $1 \leq d(x) \rightarrow y=$ $d(x) \rightarrow d(y)$, which implies $d(x) \leq d(y)$ for any $x, y \in L$.

Remark 3.9. (1) Theorem 3.8 shows that isotone derivations are equivalent to additive derivations on MV-algebras.
(2) Example 3.2 shows that an additive derivation is not a homomorphism on an MV-algebra in general, since $d\left(a^{*}\right)=b \neq 1=(d(a))^{*}$.
(3) Example 3.2 shows that the fixed point set of an additive derivation $d$ is not a subalgebra of an MV-algebra $L$ in general, since $0^{*}=1 \notin\{0, b\}=\operatorname{Fix}_{d}(L)$.
(4) Theorem 3.8(4) shows that every additive derivation $d$ on an MV-algebra $L$ is completely defined by the image $d(1)$ of the 1 .

Theorem 3.10. Let d be an additive derivation on MV-algebra L. Then

$$
\left(\operatorname{Fix}_{d}(L), \oplus, \neg, 0\right)
$$

is an MV-algebra, where $\neg x=d\left(x^{*}\right)=\left(x \oplus(d(1))^{*}\right)^{*}$ for any $x \in \operatorname{Fix}_{d}(L)$.
Proof. It follows from Definition 3.4(2) that $F i x_{d}(L)$ is closed under $\oplus$.
Also, for all $x \in \operatorname{Fix}_{d}(L)$, from Propositions 3.3(2) and 3.7(2), we have

$$
d(\neg x)=d\left(d\left(x^{*}\right)\right)=d(1) \odot d(1) \odot x^{*}=d(1) \odot x^{*}=d\left(x^{*}\right)=\neg x,
$$

which implies that $\operatorname{Fix}_{d}(L)$ is closed under $\neg$.
(MV1) It follows from Definition 3.4(2).
(MV2) From Theorem 3.8(3), we have

$$
\neg \neg x=\left(\neg x \oplus(d(1))^{*}\right)^{*}=\left(x \oplus(d(1))^{*}\right) \odot d(1)=x \wedge d(1)=d(x) \wedge d(1)=x
$$

which implies $\neg \neg x=x$ for all $x \in \operatorname{Fix}_{d}(L)$.
(MV3) From Theorem 3.8(3) and Proposition 3.3(2), we have

$$
x \oplus \neg 0=x \oplus d(1)=d(x) \oplus d(1)=d(x) \vee d(1)=d(1),
$$

which implies $x \oplus \neg 0=d(1)$ for all $x \in \operatorname{Fix}_{d}(L)$.
(MV4) From Theorem 3.8(4), we have

$$
\begin{aligned}
\neg(\neg x \oplus y) \oplus y & =\left(\neg x \oplus y \oplus(d(1))^{*}\right)^{*} \oplus y \\
& =\left(\left(x \oplus(d(1))^{*}\right)^{*} \oplus y \oplus(d(1))^{*}\right)^{*} \oplus y \\
& =\left(\left(x \oplus(d(1))^{*}\right) \odot d(1) \odot y^{*}\right) \oplus y \\
& =\left((x \wedge d(1)) \odot y^{*}\right) \oplus y \\
& =x \vee y,
\end{aligned}
$$

which implies $\neg(\neg x \oplus y) \oplus y=x \vee y$ for any $x, y \in \operatorname{Fix}_{d}(L)$.

Proposition 3.11. Let $L$ be an $M V$-algebra and $d$ an additive derivation on $L$. Then we have the following properties:
(1) $d: L \longrightarrow \operatorname{Fix}_{d}(L)$ is a surjective homomorphism,
(2) $\bar{d}: L / \operatorname{Ker}(d) \longrightarrow F i x_{d}(L)$ is an isomorphism.

Proof. It follows from Theorem 3.8 and Proposition 3.10.
(2) It is verified that $\operatorname{Ker}(d)$ is an ideal of $L$. If $x \sim_{\operatorname{Ker}(d)} y$, then $(x \ominus y) \oplus(y \ominus x) \in \operatorname{Ker}(d)$, and hence

$$
d((x \ominus y) \oplus(y \ominus x))=d(x \ominus y) \oplus d(y \ominus x)=0
$$

Then it follows from Theorem 3.8(5) that $d(x \ominus y)=d\left(x \odot y^{*}\right)=d(x) \odot y^{*}=0$, which implies $d(x) \leq y$. Similarity, we can prove $d(y) \leq x$. Then by Theorem 3.8(10), $d(x)=d(y)$. Thus, $\bar{d}$ is well defined. Moreover, it follows from (1) that $\bar{d}: L / \operatorname{Ker}(d) \longrightarrow F i x_{d}(L)$ is an isomorphism.

Corollary 3.12. Let $L$ be an MV-algebra and $d: L \rightarrow L$ be a map on $L$ such that $d(L) \subseteq B(L)$. Then the following statements are equivalent: for any $x, y \in L$,
(1) $d$ is an additive derivation on $L$,
(2) $d(x)=d(1) \odot x$,
(3) $d(x \odot y)=d(x) \odot y=x \odot d(y)$.

Proof. (1) $\Rightarrow$ (2) It follows from Proposition 3.7(1).
$(2) \Rightarrow(3)$ The proof is similar to that of Theorem $3.8(4) \Rightarrow(5)$.
$(3) \Rightarrow(1)$ The proof is similar to that of Theorem $3.8(5) \Rightarrow(1)$.

## $\S 4$ Solution to open problems related to derivations

In this section, we further discuss the relationship between ideals and additive derivations on MV-algebras, and give a negative answer to the open problems (OP1) and (OP2).

Example 4.1. Let $S_{3}$ be the MV-algebra in Example 2.1. Now, we define a map $d: S_{3} \longrightarrow S_{3}$ by

$$
d(x)= \begin{cases}0, & x=0,1 \\ \frac{1}{2}, & x=\frac{1}{2}\end{cases}
$$

Then $d$ is a derivation on $S_{3}$, while is not an additive derivation ([9]). Also, Fix $(L)=\left\{0, \frac{1}{2}\right\}$ is not an ideal of $L$ since $\frac{1}{2} \oplus \frac{1}{2}=1 \notin F i x_{d}(L)$.

Proposition 4.2. Let $L$ be an MV-algebra and $d$ be an additive derivation on L. Then $F i x_{d}(L)$ is an ideal of $L$.

Proof. (1) It follows from Definition 3.4(2) that $\operatorname{Fix}_{d}(L)$ is closed under $\oplus$.
(2) Let $x \leq y$ and $y \in \operatorname{Fix}_{d}(L)$. Then

$$
\begin{aligned}
d(x)=d(x \wedge y) & =d\left(\left(x \oplus y^{*}\right) \odot y\right) \\
& =\left(d\left(x \oplus y^{*}\right) \odot y\right) \oplus\left(\left(x \oplus y^{*}\right) \odot d(y)\right) \\
& =\left(d\left(x \oplus y^{*}\right) \odot y\right) \oplus\left(\left(x \oplus y^{*}\right) \odot y\right) \\
& =\left(d\left(x \oplus y^{*}\right) \odot y\right) \oplus(x \wedge y) \\
& =\left(d\left(x \oplus y^{*}\right) \odot y\right) \oplus x
\end{aligned}
$$

which implies $x \leq d(x)$, and hence $x \in \operatorname{Fix}_{d}(L)$.
However, the converse of Proposition 4.2 may not hold in general.
Example 4.3. Let $L$ be the MV-algebra in Example 3.5. Then $\operatorname{Fix}(L)=\{0\}$ is an ideal of $L$, but $d$ is not an additive derivation on $L$.

Inspired by Proposition 4.2, we naturally ask that whether there exists an additive derivation $d$ such that $\operatorname{Fix}_{d}(L)=I$ for given ideal $I$ in an MV-algebra $L$. For the similar question regard to the lattice and residuated lattice, Xin gives the positive answer under certain conditions as follows in [11,23].

Proposition 4.4. Let $L$ be a lattice (Heyting algebra) and $I$ be a non-void prime ideal of $L$. Then there exists a derivation $d$ such that $F i x_{d}(L)=I$.

Proof. Let $I$ be a non-void prime ideal of $L$. Then there exists a map $d: L \longrightarrow L$ defined by

$$
d(x)= \begin{cases}x, & x \in I \\ x \wedge t, & x \in L \backslash I, \text { where } t \in I\end{cases}
$$

is a derivation satisfying $\operatorname{Fix}(L)=I$. Indeed, if $x, y \in I$, then we can see that

$$
d(x \wedge y)=x \wedge y=(x \wedge y) \vee(x \wedge y)=(d x \wedge y) \vee(x \wedge d y)
$$

If $x \in I, y \in L I$, then $x \wedge y \leq x$ and so $x \wedge y \in I$. Hence $d(x \wedge y)=x \wedge y,(d x \wedge y) \vee(x \wedge d y)=$ $(x \wedge y) \vee(x \wedge y \wedge a)=x \wedge y$, which shows that $d(x \wedge y)=(d x \wedge y) \vee(x \wedge d y)$.

If $x, y \in L I$, then $x \wedge y \in L I$ since $I$ is prime. Hence $d(x \wedge y)=x \wedge y \wedge a,(d x \wedge y) \vee(x \wedge d y)=$ $(x \wedge a \wedge y) \vee(x \wedge y \wedge a)=x \wedge y \wedge a$. By the above argument, we can see that $d$ is a derivation. Clearly Fix $_{d}(L)=I$.

The following example shows that $t \in I$ in Proposition 4.4 is necessary.
Example 4.5. Let $L=\{0, a, b, c, 1\}$, where $0 \leq a \leq b, c \leq 1$. Define operation $\rightarrow$ on $L$ as follows:

| $\rightarrow$ | 0 | $a$ | $b$ | $c$ | 1 |
| :---: | :---: | :---: | :---: | :---: | :---: |
| 0 | 1 | 1 | 1 | 1 | 1 |
| $a$ | 0 | 1 | 1 | 1 | 1 |
| $b$ | 0 | $c$ | 1 | $c$ | 1 |
| $c$ | 0 | $b$ | $b$ | 1 | 1 |
| 1 | 0 | $a$ | $b$ | $c$ | 1 |

It is verified that $(\{0, a, b, c, 1\}, \wedge, \vee, \rightarrow, 0,1)$ is a Heyting algebra and $I=\{0, a, b\}$ is a non-void prime ideal of $L$. Then by Proposition 4.4 there exists a map $d: L \rightarrow L$ defined by

$$
d(x)= \begin{cases}x, & x \in I \\ x \wedge c, & x \in L \backslash I\end{cases}
$$

is a derivation on $L$. But $\operatorname{Fix}(L)=\{0, a, b, c\} \neq I$.
The following example shows that the condition "prime ideal" in Proposition 4.4 is necessary.
Example 4.6. ([22]) Let $L=[0,1]$ and $I=(0,1)$. Then $(L, \leq)$ is a lattice and $I$ is an ideal of $L$, but it is not prime, where $\leq$ is the ordinary order. Moreover, we can see that there is not any isotone derivation $d$ such that $F i x_{d}(L)=I$.

The following remark give a negative answer to the two open problems (OP1) and (OP2).
Remark 4.7. The answer to the above open problems are easily seen to be negative even for Boolean algebras. In particular, let $L$ be the finite-cofinite Boolean algebra on an infinite set and $I$ the (prime) ideal of finite sets. If $I=F i x_{d}(L)$ for some additive derivation $d$, which is equivalent to the isotone lattice derivation on $L$, then by Theorem 3.8(9) for each finite set $X$ and infinite set $Y$ we have $X \subseteq d(Y)$ if and only if $X \subseteq Y$, which implies that $d(X)$ have to be the smallest finite set below $Y$, but no such set exists. It is well known that Boolean algebras are a subclass of MV-algebras, residuated lattices and lattices, and additive derivations are a special classes of derivations and lattice derivations. Then we give a negative answer to the two open problems (OP1) and (OP2).

## $\S 5$ Representations of Boolean algebras based on derivations

In this section, we give some representations of Boolean algebras via two special kinds of derivations, which are defined as follows:
(1) $d_{a}: L \rightarrow L$ such that $d_{a}(x)=a \odot x$, for all $x \in L$,
(2) $g_{a}: L \rightarrow L$ such that $g_{a}(x)=a \oplus x$, for all $x \in L$.

Example 5.1. Let $S_{3}$ be the MV-algebra and $d$ be a derivation in Example 4.1. Then $d$ is not an additive derivation on $S_{3}$, since $d\left(\frac{1}{2} \oplus \frac{1}{2}\right)=d(1)=0 \neq 1=d\left(\frac{1}{2}\right) \oplus d\left(\frac{1}{2}\right)$.
Theorem 5.2. Let $L$ be an MV-algebra. Then the following statements are equivalent:
(1) $L$ is a Boolean algebra,
(2) $d_{a}$ is an additive derivation on $L$, for all $a \in L$.

Proof. (1) $\Rightarrow(2)$ If $L$ is a Boolean algebra, by Proposition 2.2, then

$$
\begin{gathered}
d_{a}(x \odot y)=a \odot(x \odot y)=(a \odot x) \odot y=d_{a}(x) \odot y \\
d_{a}(x \oplus y)=(x \oplus y) \odot a=(x \vee y) \odot a=(x \odot a) \vee(y \odot a)=d_{a}(x) \vee d_{a}(y)=d_{a}(x) \oplus d_{a}(y)
\end{gathered}
$$

for any $x, y \in L$, which implies that $d_{a}$ is an additive derivation on $L$.
$(2) \Rightarrow(1)$ If $d_{a}$ is an additive derivation on MV-algebra $L$, then

$$
a=d_{a}(1)=d_{a}(1 \odot 1)=\left(d_{a}(1) \odot 1\right) \oplus\left(1 \odot d_{a}(1)\right)=a \oplus a,
$$

for any $a \in L$, which implies $L \subseteq B(L)$. Thus, $L$ is a Boolean algebra.

Remark 5.3. Theorem 5.2 shows that $d_{a}$ is an additive derivation on a Boolean skeleton of an MV-algebra. Hence we call $d_{a}$ a Boolean additive derivation on an MV-algebra. We denote the set of all Boolean additive derivations on MV-algebras by $D(L)$, that is, $D(L)=\left\{d_{a} \mid a \in B(L)\right\}$.

Now, we introduce the adjoint derivation of Boolean additive derivations on MV-algebras.
Definition 5.4. Let $L$ be an MV-algebra. A map $g: L \rightarrow L$ is called an implication derivation on $L$ if it preserves $\rightarrow$ and satisfies the following condition: for any $x, y \in L$,

$$
g(x \rightarrow y)=(g(x) \rightarrow y) \oplus(x \rightarrow g(y))
$$

Example 5.5. Let $L=\{0, a, b, 1\}$, where $0 \leq a, b \leq 1$. Define operations $\oplus$ and $*$ as follows:

| $\oplus$ | 0 | $a$ | $b$ | 1 |
| :---: | :---: | :---: | :---: | :---: |
| 0 | 0 | $a$ | $b$ | 1 |
| $a$ | $a$ | $a$ | 1 | 1 |
| $b$ | $b$ | 1 | $b$ | 1 |
| 1 | 1 | 1 | 1 | 1 |$\quad$|  |  |  |  |  |  |
| :--- | :--- | :--- | :--- | :--- | :--- |
|  |  |  |  |  | $b$ |
|  |  |  |  |  |  |

Then $(\{0, a, b, 1\}, \oplus, *, 0)$ is an MV-algebra. Define a map $g: L \longrightarrow L$ by

$$
g(x)= \begin{cases}a, & x=0, a \\ 1, & x=b, 1\end{cases}
$$

It is verified that $g$ is an implicative derivation on $L$, while $g$ is not a homorphism on $L$, since $g(0) \neq 0$.

Theorem 5.6. Let $L$ be an MV-algebra. Then the following statements are equivalent:
(1) $L$ is a Boolean algebra,
(2) $g_{a}$ is an implicative derivation on $L$, for all $a \in L$.

Proof. (1) $\Rightarrow(2)$ If $L$ is a Boolean algebra and $a \in L$, then

$$
g_{a}(x \rightarrow y)=g_{a}(x) \rightarrow g_{a}(y) .
$$

In particular, by Proposition 2.3(6), we have

$$
a^{*} \rightarrow(x \rightarrow y)=\left(a^{*} \rightarrow x\right) \rightarrow\left(a^{*} \rightarrow y\right)
$$

which is equivalent to

$$
a \oplus(x \rightarrow y)=(a \oplus x) \rightarrow(a \oplus y)
$$

which implies $g_{a}(x \rightarrow y)=g_{a}(x) \rightarrow g_{a}(y)$ for any $a \in L$.

Then by Proposition 2.3, we have

$$
\begin{aligned}
g_{a}(x \rightarrow y) & =a \oplus(x \rightarrow y) \\
& =x^{*} \oplus(a \oplus y) \\
& =x^{*} \oplus g_{a}(y) \\
& =\left(\left(g_{a}(x)\right)^{*} \vee x^{*}\right) \oplus\left(g_{a}(y) \vee y\right) \\
& =\left(\left(g_{a}(x)\right)^{*} \oplus x^{*}\right) \oplus\left(g_{a}(y) \oplus y\right) \\
& =\left(\left(g_{a}(x)\right)^{*} \oplus y\right) \oplus\left(x^{*} \oplus g_{a}(y)\right) \\
& =\left(g_{a}(x) \rightarrow y\right) \oplus\left(x \rightarrow g_{a}(y) .\right.
\end{aligned}
$$

which implies that $g_{a}$ is an implicative derivation on $L$.
$(2) \Rightarrow(1)$ If $g_{a}$ is an implicative derivation on MV-algebra $L$, then

$$
g_{a}(x \rightarrow y)=g_{a}(x) \rightarrow g_{a}(y)
$$

for all $x, y \in L$. Taking $x=a^{*}$ and $y=a^{*} \odot a^{*}$ in the above equation, we have

$$
\begin{aligned}
g_{a}(x \rightarrow y) & =a \oplus(x \rightarrow y) \\
& =a^{*} \rightarrow\left(a^{*} \rightarrow a^{*} \odot a^{*}\right) \\
& =a^{*} \odot a^{*} \rightarrow a^{*} \odot a^{*} \\
& =1,
\end{aligned}
$$

and

$$
g_{a}(x) \rightarrow g_{a}(y)=\left(a^{*} \rightarrow a^{*}\right) \rightarrow\left(a^{*} \rightarrow a^{*} \odot a^{*}\right)=a^{*} \rightarrow a^{*} \odot a^{*}
$$

which implies $a^{*} \leq a^{*} \odot a^{*}$, and hence $a^{*}=a^{*} \odot a^{*}$, that is, $a \oplus a=a$.
Remark 5.7. Theorem 5.6 shows that $g_{a}$ is an implicative derivation on a Boolean skeleton of an MV-algebra. Hence we call $g_{a}$ a Boolean implicative derivation on an MV-algebra. We denote the set of all Boolean implicative derivations on MV-algebras by $G(L)$, that is, $G(L)=$ $\left\{g_{a} \mid a \in B(L)\right\}$.

Definition 5.8. A Boolean additive derivation $\mu_{a}$ is called residuated if there exists a Boolean implicative derivation $\nu_{a}$ such that the pair $\left(\mu_{a}, \nu_{a}\right)$ forms a Galois connection.

The Boolean implicative derivation $\nu_{a}$ is called the adjoint derivation of the Boolean additive derivation $\mu_{a}$.

If the Boolean additive derivation $\mu_{a}$ is residuated, with the properties of residuated map, then $\mu_{a}$ and it's adjoint derivation must be isotone. In particular, if the Boolean additive derivation $\mu_{a}$ has the adjoint derivation $\nu_{a}$, then the adjoint of $\mu_{a}$ unique. Thus we shall denote this unique $\nu_{a}$ by $\mu_{a}^{*}$.
Example 5.9. Let $L$ be the MV-algebra in Example 5.5. Define two maps $\nu_{a}$ and $\mu_{a}$ on $L$ as follows:

$$
\mu_{a}=\left\{\begin{array}{ll}
0, & x=0, b \\
a, & x=a, 1
\end{array}, \nu_{a}= \begin{cases}a, & x=0, a \\
1, & x=b, 1\end{cases}\right.
$$

Then $\nu_{a}$ and $\mu_{a}$ are Boolean implicative and additive derivations on $L$, respectively, and ( $\nu_{a}, \mu_{a}$ ) forms a Galois connection on $L$.

Theorem 5.10. Let $L$ be an MV-algebra and $a \in B(L)$. Then the map $g_{a^{*}}$ is the adjoint derivation of the map $d_{a}$ on $L$.

Proof. Theorems 5.2 and 5.6 show that $d_{a}$ and $g_{a^{*}}$ are a Boolean additive derivation and a Boolean implicative derivation on $L$, respectively.
(1) If $x \leq y$, then

$$
g_{a^{*}}(x)=a \rightarrow x \leq a \rightarrow y=g_{a^{*}}(y), d_{a}(x)=a \oplus x \leq a \oplus y=d_{a}(y)
$$

which implies $g_{a^{*}}$ and $d_{a}$ are isotone.
(2) $d_{a}(x)=a \odot x \leq y$ if and only if $x \leq a \rightarrow y=g_{a^{*}}(y)$.

Thus ( $d_{a}, g_{a^{*}}$ ) forms a Galois connection on $L$.
As a corollary of Theorem 3.10 and Theorem 5.10, we have the following result.
Corollary 5.11. Let $L$ be an MV-algebra and $a \in B(L)$. Then $\left(F i x_{d_{a}}(L), \oplus, \neg_{1}, 0, a\right)$ is an MV-algebra, where $\neg_{1} x=d_{a}\left(x^{*}\right)$ for all $x \in L$.
Corollary 5.12. Let $L$ be an MV-algebra and $a \in B(L)$. Then $\left(\right.$ Fix $\left._{d_{a^{*}}}(L), \oplus, \neg_{2}, 0, a^{*}\right)$ is an MV-algebra, where $\neg_{2} x=d_{a^{*}}\left(x^{*}\right)$ for all $x \in L$.
Corollary 5.13. Let $L$ be an MV-algebra and $a \in B(L)$. Then $\left(\right.$ Fix $\left._{g_{a}}(L), \oplus, \circ_{1}, a, 1\right)$ is an MV-algebra, where $x^{\circ_{1}}=g_{a}\left(x^{*}\right)$ for all $x \in L$.

Corollary 5.14. Let $L$ be an MV-algebra and $a \in B(L)$. Then ( Fix $\left._{g_{a^{*}}}(L), \oplus, o_{2}, a^{*}, 1\right)$ is an MV-algebra, where $x^{\circ_{2}}=g_{a^{*}}\left(x^{*}\right)$ for all $x \in L$.

We have seen in [11, Theorem 4.10] that the fixed point set of principal ideal derivations and that of their adjoint derivations in residuated lattices are lattice isomorphic. The strong version result for MV-algebras is as follows, i.e., the fixed point set of Boolean additive derivations and that of their adjoint derivations in MV-algebras are isomorphic.

Theorem 5.15. Let $L$ be an $M V$-algebra and $a \in B(L)$. Then $\left(F_{i_{d_{a}}}(L), \oplus, \neg_{1}, 0, a\right)$ and $\left(\right.$ Fix $\left._{g_{a^{*}}}(L), \oplus, \circ_{2}, a^{*}, 1\right)$ are isomorphic.

Proof. Let $f:$ Fix $_{d_{a}}(L) \longrightarrow$ Fix $_{g_{a^{*}}}(L)$ be defined by

$$
f(x)=a^{*} \oplus x=a \rightarrow x
$$

for all $x \in \operatorname{Fix}_{d_{a}}(L), a \in L$. Then $f$ is well defined.
(1) If $f(x)=f(y)$, then $a^{*} \oplus x=a^{*} \oplus y$, that is, $x=a \odot x, y=a \odot y$ for all $x, y \in F_{i x_{d_{a}}}(L)$. Now, if $a \odot x \leq x$, then $x \leq a \rightarrow x=a^{*} \oplus x$, and hence $x \leq a^{*} \oplus y=a \rightarrow y$, that is $x \leq y$. If $x \leq a \odot x$, then $y \leq x$. So $x=y$, which implies that $f$ is injective.
(2) If $x \in$ Fix $_{g_{a^{*}}}(L)$, then $x=g_{a^{*}}(x)=a^{*} \oplus x$. So

$$
f(a \odot x)=a^{*} \oplus(a \odot x)=a^{*} \oplus\left(a \odot\left(a^{*} \oplus x\right)\right)=a^{*} \oplus x=x
$$

which implies that $f$ is surjective.
(3) From Propositions 2.2 and 2.3, we have

$$
\begin{gathered}
f(x \oplus y)=a^{*} \oplus(x \oplus y)=a^{*} \oplus a^{*} \oplus x \oplus y=\left(a^{*} \oplus x\right) \oplus\left(a^{*} \oplus y\right)=f(x) \oplus f(y), \\
f(\neg 1 x)=a^{*} \oplus\left(a \odot x^{*}\right)=a^{*} \oplus x=a^{*} \oplus\left(a^{*} \oplus x\right)=\left(a^{*} \oplus x\right)^{\circ_{2}}=(f(x))^{\circ_{2}},
\end{gathered}
$$

which implies that $f$ is an homomorphism.
It is easily to checked that $f^{-1}(x)=a \odot x$ is also an homomorphism.
Therefore, $\left(F_{i x_{d_{a}}}(L), \oplus, \neg_{1}, 0, a\right)$ and $\left(F i x_{g_{a^{*}}}(L), \oplus, \circ_{2}, a^{*}, 1\right)$ are isomorphic.
The next result gives a representation of MV-algebra via Boolean derivations.
Theorem 5.16. Every MV-algebra $L$ is isomorphic to the direct product $\left(F_{i x_{d_{a}}}(L), \oplus, \neg_{1}, 0, a\right)$ and $\left(\operatorname{Fix}_{a_{a^{*}}}(L), \oplus, \neg_{2}, 0, a^{*}\right)$, where $a \in B(L)$.

Proof. Let $\tau: L \longrightarrow$ Fix $_{d_{a}}(L) \times$ Fix $_{d_{a^{*}}}(L)$ be defined by

$$
\tau(x)=(x \odot a, x \ominus a)
$$

for all $x, a \in L$. Then it follows from Theorem 5.2 that $\tau$ is well defined.
(1) It follows from Corollaries 3.12,5.11 and 5.12 that $\tau$ is a surjective homomorphism from $L$ to Fix $_{d_{a}}(L) \times$ Fix $_{d_{a^{*}}}(L)$.
(2) If $x_{1} \in \operatorname{Fix}_{d_{a}}(L)$ and $x_{2} \in F i x_{d_{a^{*}}}(L)$, then for $x=x_{1} \vee x_{2}$,

$$
\tau(x)=\left(x_{1}, x_{2}\right) .
$$

Since $(L, \wedge, \vee)$ is a distributive lattice,

$$
x=(x \wedge a) \vee\left(x \wedge a^{*}\right)
$$

for all $x \in L$. Thus $\tau$ is injective.
(3) It is easy to verify that $\tau^{-1}(x, y)=x \vee y$ for all $(x, y) \in \operatorname{Fix}_{d_{a}}(L) \times F i x_{d_{a^{*}}}(L)$, is also an MV-homomorphism from Fix $_{d_{a}}(L) \times$ Fix $_{d_{a^{*}}}(L)$ to $L$.

As a consequence of Corollaries 5.13 and 5.14 , we have the following result.
Corollary 5.17. Every MV-algebra $L$ is isomorphic to the direct product ( $\operatorname{Fix}_{g_{a^{*}}}(L), \oplus, \circ_{2}, a^{*}, 1$ ) and $\left(F_{i x}(L), \oplus, \circ_{1}, a, 1\right)$, where $a \in B(L)$.

Theorem 5.18. Let $L$ be an $M V$-algebra. Then the following statements are equivalent:
(1) $L$ is a Boolean algebra,
(2) for any $a \in L$, Fix $_{d_{a}}(L)=(a]$,
(3) for any $a \in L$, Fix $_{g_{a}}(L)=[a)$.

Proof. (1) $\Rightarrow$ (2) If $L$ is a Boolean algebra, then $d_{a}(a)=a \odot a=a$, which implies $a \in$ $\operatorname{Fix}_{d_{a}}(L)$. Then it follows from Proposition 4.2 that $F i x_{d_{a}}(L)$ is an ideal of $L$, that is, for all $x \in L$, if $x \leq a$, then $x \in \operatorname{Fix}_{d_{a}}(L)$. So $(a] \subseteq \operatorname{Fix}_{d_{a}}(L)$. Conversely, if $x \in \operatorname{Fix}_{d_{a}}(L)$, then $d_{a}(x)=a \odot x=a \wedge x=x$, which implies that $x \leq a$, that is, $x \in(a]$, and hence $F i x_{d_{a}}(L) \subseteq(a]$.
$(2) \Rightarrow$ (1) Suppose that Fix $_{d_{a}}(L)=(a]$ for all $a \in L$. Notice that $a \in(a]$, we have $a \in$ Fix $d_{a}(L)$. Then $d_{a}(a)=a$, that is, $a \odot a=a$ for all $a \in L$. So $L$ is a Boolean algebra.
$(1) \Leftrightarrow(3)$ The proof is similar to that of $(1) \Leftrightarrow(2)$.

The following theorems give a representation of Boolean algebras in terms of Boolean derivations. Namely, every Boolean algebra is isomorphic to the algebra of all Boolean derivations.

Theorem 5.19. Let $L$ be an MV-algebra. Then $\left(D(L), \sqcup, \sqcap, \star, d_{0}, d_{1}\right)$ is a Boolean algebra, where

$$
\left(d_{a} \sqcup d_{b}\right) x=\left(d_{a} x\right) \vee\left(d_{b} x\right),\left(d_{a} \sqcap d_{b}\right) x=\left(d_{a} x\right) \wedge\left(d_{b} x\right),\left(d_{a}\right)^{\star} x=d_{a^{*}} x,
$$

for any $d_{a}, d_{b} \in D(L), x \in L$.
Proof. (1) We show that $\left(D(L), \sqcup, \sqcap, d_{0}, d_{1}\right)$ is a bounded lattice with $d_{0}$ as the smallest element and $d_{1}$ as the greatest element.

For all $d_{a}, d_{b} \in D(L)$ and $x \in L$, we have

$$
\begin{aligned}
\left(d_{a} \sqcap d_{b}\right)(x) & =\left(d_{a}(x)\right) \wedge\left(d_{b}(x)\right) \\
& =(a \odot x) \wedge(b \odot x) \\
& =(a \wedge b) \odot x \\
& =d_{a \wedge b}(x),
\end{aligned}
$$

which implies $d_{a} \sqcap d_{b} \in D(L)$.
Also, we have

$$
\begin{aligned}
\left(d_{a} \sqcup d_{b}\right)(x) & =\left(d_{a}(x) \vee d_{b}(x)\right) \\
& =(a \odot x) \vee(b \odot x) \\
& =(a \vee b) \odot x \\
& =d_{a \vee b}(x),
\end{aligned}
$$

which implies $d_{a} \sqcup d_{b} \in D(L)$.
Moreover, for all $d_{a} \in D(L)$ and $x \in L$, we have

$$
\begin{array}{r}
\left(d_{a} \sqcap d_{0}\right)(x)=d_{a}(x) \wedge d_{0}(x)=0=d_{0}(x) \\
\left(d_{a} \sqcup d_{1}\right)(x)=d_{a}(x) \vee d_{1}(x)=x=d_{1}(x),
\end{array}
$$

which implies that $d_{0}$ and $d_{1}$ are the smallest element and greatest element in $D(L)$, respectively.
(2) We show that $\left(D(L), \sqcup, \sqcap, \star, d_{0}, d_{1}\right)$ is a Boolean algebra.

For all $d_{a} \in D(L)$ and $x \in L$, we have

$$
\left(d_{a}\right)^{\star}(x)=d_{a^{*}}(x)=a^{*} \odot x=d_{a^{*}}(x),
$$

which implies $\left(d_{a}\right)^{\star}(x)=d_{a^{*}}(x)$. Then follow from $a^{*} \in B(L)$ that $d_{a}{ }^{\star} \in D(L)$.
Also, we have

$$
\begin{aligned}
&\left(d_{a} \sqcup\left(d_{a}\right)^{\star}\right)(x)=\left(d_{a}\right)(x) \vee d_{a^{*}}(x)=(a \odot x) \vee\left(a^{*} \odot x\right)=\left(a \vee a^{*}\right) \odot x=x=d_{1}(x), \\
&\left(d_{a} \sqcap\left(d_{a}\right)^{\star}\right)(x)=\left(d_{a}\right)(x) \wedge d_{a^{*}}(x)=(a \wedge x) \wedge\left(a^{*} \wedge x\right)=\left(a \wedge a^{*}\right) \wedge x=0=d_{0}(x),
\end{aligned}
$$

which implies $d_{a} \sqcup\left(d_{a}\right)^{\star}=d_{1}, d_{a} \sqcap\left(d_{a}\right)^{\star}=d_{0}$.
Theorem 5.20. Let $L$ be an MV-algebra. Then $\left(G(L), \cap, \cup, \bullet, g_{0}, g_{1}\right)$ is a Boolean algebra, where

$$
\left(g_{a} \cup g_{b}\right) x=\left(g_{a} x\right) \vee\left(g_{b} x\right),\left(g_{a} \cap g_{b}\right) x=\left(g_{a} x\right) \wedge\left(g_{b} x\right),\left(g_{a}\right)^{\bullet} x=g_{a^{*}} x
$$

for any $g_{a}, g_{b} \in G(L), x \in L$.

Proof. The proof is similar to that of Theorem 5.19.
We have seen in [23, Theorem 3.29] that every distributive lattice is isomorphic to the algebra of all principle derivations. The corresponding results for Boolean algebra are as follows.

Theorem 5.21. Every Boolean algebra $(L, \wedge, \vee, *, 0,1)$ is isomorphic to $\left(D(L), \sqcup, \sqcap, \star, d_{0}, d_{1}\right)$.
Proof. Let $\phi: L \longrightarrow D(L)$ be defined by

$$
\phi(a)(x)=a \wedge x
$$

for all $a, x \in L$. Then easily verified that $\phi$ is well defined, surjective and injective.
Also, for any $a, b \in L$, we have

$$
\begin{gathered}
\phi(a \wedge b)=d_{a \wedge b}=(a \wedge b) \wedge x=(a \wedge x) \wedge(b \wedge x)=d_{a} \sqcap d_{b}=\phi(a) \sqcap \phi(b), \\
\phi(a \vee b)=d_{a \vee b}=(a \vee b) \wedge x=(a \wedge x) \vee(b \wedge x)=d_{a} \sqcup d_{b}=\phi(a) \sqcup \phi(b), \\
\phi\left(a^{*}\right)=d_{a^{*}}=a^{*} \wedge x=x \ominus a=(x \ominus a) \vee(x \ominus x)=(x \wedge a) \ominus x=(\phi(a))^{\star} .
\end{gathered}
$$

which implies that $\phi$ is a homomorphism.
Thus $(L, \wedge, \vee, *, 0,1)$ and $\left(D(L), \sqcup, \sqcap, \star, d_{0}, d_{1}\right)$ are isomorphic.
Theorem 5.22. Every Boolean algebra $(L, \wedge, \vee, *, 0,1)$ is isomorphic to $\left(G(L), \cap, \cup, \bullet, g_{0}, g_{1}\right)$.
Proof. The proof is similar to that of Theorem 5.21.

## $\S 6$ Concluding remarks

The notion of derivations gives a tool for studying structures and properties in algebraic systems. In the paper, we obtain that the fixed point set of additive derivations is still an MV-algebra, and show that the fixed point set of Boolean additive derivations and that of their adjoint derivations are isomorphic. Then we obtain that some representation and characterization of MV-algebras via Boolean derivations and their adjoint derivations. This results also give negative answers to two open problems.

In [8], B. Gerla introduced a pair of semirings $(L, \vee, \odot, 0,1)$ and $(L, \wedge, \oplus, 0,1)$ on MV-algebra $(L, \oplus, *, 0)$ such that ${ }^{*}$ is semirings isomorphism between the above two semirings. Hence in future, we will use the other operations to define different derivations on an MV-algebra and we will obtain their properties. Also, we will study the relationship between them. We hope that the above work would serve as a foundation for further on study the structure of various derivations.

## References

[1] L K Ardekani, B Davvaz. On $(\theta, \sigma)$-derivations of two types of hyperrings, Journal of Multiplevalued Logic and Soft Computing, 2015, 25(4-5): 491-510.
[2] C C Chang. Algebraic analysis of many-valued logic, Trans Amer Math Soc, 1958, 88: 467-490.
[3] C C Chang. A new proof of the completeness of the Eukasiewicz axioms, Trans Amer Math Soc, 1959, 93: 74-80.
[4] R Cignoli, D Mundici. An elementary proof of Chang's completeness theorem for the infinitevalued calculus of Łukasiewicz, Stud Log, 1997, 58: 79-97.
[5] B Davvaz, L K Ardekani. Generalized (Jordan) left derivations on rings associated with an element of rings, J Contemp Mathemat Anal, 2017, 57: 166-174.
[6] F Forouzesh, E Eslami, A Borumand Saeid. Stabilizer theory in MV-algebras, J Intell Fuzzy Syst, 2014, 27: 1557-1565.
[7] F Forouzesh, E Eslami, A Borumand Saeid. On obstinate ideals in MV-algebras, Univ Politehn Bucharest Sci Bull Ser A Appl Math Phys, 2014, 76: 53-62.
[8] B Gerla. Many valued logics and semirings, Neural Netw World, 2003, 5:467-480.
[9] G Grätzer. Lattice theory, W H Freeman and Company, San Francisco, 1979.
[10] S Ghorbain, L Torkzadeh, S Motamed. $(\odot, \oplus)$-derivations and $(\ominus, \odot)$-derivations on $M V$ algebras, Iran J Math Sci Inform, 2013, 8: 75-90.
[11] P F He, X L Xin, J M Zhan. On derivations and their fixed point sets in residuated lattices, Fuzzy Sets Syst, 2016, 303: 97-113.
[12] S L Huang, B Davvaz. Generalized derivations of rings and Banach algebras, Comm Algebra, 2015, 41: 1188-1194.
[13] Y B Jun, X L Xin. On derivations of BCI-algebras, Inf Sci, 2004, 59: 167-176.
[14] J Łukasiewicz, A Tarski. Untersuchungen über den Aussagenkalkül, Comptes Rendus des Séances de la Société des Science et des Letters de Varsovie Classe III, 1930, 23: 30-50.
[15] E Posner. Derivations in prime rings, Proc Amer Math Soc, 1957, 8: 1093-1100.
[16] G J Wang, H J Zhou. Metrization on MV-algebras and its application in Eukasiewicz propositional logic, Acta Math Sin, 2009, 3: 87-100.
[17] J T Wang, X L Xin, P F He. Monadic bounded hoops, Soft Comput, 2018, 22: 1749-1762.
[18] J T Wang, X L Xin. Monadic algebras of an involutive monoidal t-norm based logic, Iran J Fuzzy Syst, 2022, 19(3): 187-202.
[19] J T Wang, P F He. Generalized valuations on MTL-algebras, Front Math China, 2022, 17(4): 521-543.
[20] J T Wang, P F He, J Yang, M Wang, X L He. Monadic NM-algebras: an algebraic approach to monadic predicate nilpotent minimum logic, J Logic Comput, 2022, 32: 741-766.
[21] J T Wang, X L He, M Wang. An algebraic study of the logic $S 5^{\prime}(B L)$, Math Slovaca, 2022, 72(6): 1447-1462.
[22] J T Wang, P F He, Y H She. Monadic NM-algebras, Log J IGPL, 2019, 27: 812-835.
[23] X L Xin. The fixed set of aderivation in lattices, Fixed Point Theory Appl, 2012, 218: 1-12.
[24] X L Xin, T Y Li, J H Lu. On derivations of lattices, Inf Sci, 2008, 178: 307-316.

[^0]
[^0]:    ${ }^{1}$ School of Science, Xi'an Shiyou University, Xi'an 710065, China.
    Email: yanhongshe@xsyu.edu.cn
    ${ }^{2}$ School of Mathematics and Statistics, Shaanxi Normal University, Xi'an 710119, China.

